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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
zhst — -~ = —| #nLst -~ = — — st — - ~ — —| Enst - ~ — — —
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
zhst — -~ = —| FhLst -~ = — — st — - ~ — —| Enst - ~ — — —
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
zhst — -~ = —| FhLst -~ = — — st — - ~ — —| #nust - ~ — — —
4 100kN/m##82% | 1.00 )| 000 ~ 0.24 103.59 |3mEBAD| — ~ — — — | 100kN/m#%#8z25 | .00 | 1079 ~ 1150 103.59 |3mEBZ3 - ~ — — —
ZhLst 1.00 | 024 ~ 803 100.00 | #hst | 000 ~ 0.00| 1.69 9.03 st 1.00 | 6.00 ~ 10.79 100.00 | #nst | 6.00 ~ 11.50| 1.69 9.03
5 100kN/m##82% | 1.00 | 000 ~ 221 134.33 |3mZEBAD| — ~ — — — | 100kN/m#%#B=25 | .00 | 1099 ~ 2269 154.33 |3m&EBZ3 -~ — — —
s 1.00 | 221 ~ 999 100.00 | Fnlst | 0.00 ~ 9.99 | 2.05 10.97 Thst 1.00 | 6.00 ~ 10.99 100.00 | =nLSY | 6.00 ~ 2269| 2.06 10.97
p 100kN/m%E#8z5| 1.00 | 000 ~ 206 13187 |3m&E#BzZB| — ~ — — — | 100kN/mi%#825 | 1.00 | 1066 ~ 1940 131.87 |3m%EEEZ5 - ~ — — —
s 1.00 | 206 ~ 984 100.00 | #nlst | 000 ~ 0.00| 1.71 915 st 1.00 | 6.00 ~ 10.66 100.00 | =hist | 6,00 ~ 1940 1.71 915
7 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
Thsn — -~ = — | =hst -~ = — — ZznLst — - ~ — — | #hust - ~ — — —
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Thsn — -~ = — | =hst -~ = — — ZznLst — - ~ — — | Zhust - ~ — — —
9 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
zhsn — -~ = — | =hst -~ = — — ZznLst — - ~ — — | Zhus - ~ — — —
10 100kN/ M%#2Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EEZ S - ~ — — —
Thsn — -~ = — | =hest -~ = — — ZznLst — - ~ — — | Zhust - ~ — — —
11 100kN/m%#82% | 1.00 | 000 ~ 0.04 100.62 |3m&EBAB| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1263 ~ 1280 100.62 |3m%EiBZ% - ~ — — —
ThLst 1.00 | 004 ~ 783 100.00 | =hst | 0oo ~ 000\ 1.67 8.39 zhst 1.00 | 6.00 ~ 1263 100.00 | =hst | 6,00 ~ 1280 1.67 8.39
12 100kN/m%Z#Bz5% | 1.00 | 000 ~ 268\ 14225 |3mx#B25| — ~ — — — | 100kN/m%#BZ% | 1.00 | 11.17 ~ 3374 14225 |3m%Ei#BZ% - ~ — — —
Thilst 1.00 | 268 ~ 1047 100.00 | NS | 000 ~ 1047] 2.83 15.14 Fhst 1.00 | 6.00 ~ 1117 100.00 | Tnst | 6.00 ~ 33.74| 2.83 15.14
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




